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2021
CHEMISTRY(General)
Paper Code : lll -A
[New syllabus]
Full Marks - 15 Time - Thirty Minutes
Answer all the questions
Choose the correct answer
Each question carry 1 marks
1. which of the following statement is correct in case of glucose and mannose?
a) Diastereomers
b) Anomer
c) Epimer
d) Enantiomer
1 YIS 8 WIEIER (Fa@ [NMET @9 Sfeft Afds 2
a) SIIGHRSIF
b) SR
c) aferg
d) aaEfreIg
2. The primary valency of the complex [Cr(H20)5CI]CI2 is-
a)2
b) 4
c) 6
d)3
2. [Cr(H20)5CI]ICI2 wifom @RIfox U1 @rero! [AET @t 3@ ?
a)2
b) 4
c) 6
d)3

3. With increasing concentration equivalent conductance of electrolyte-
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a) increase
b) decrease
c¢) remain constant
d) frist increase then decrease
3. (I ofe RERNEF sow IwE Feus AiRkizor-
a) 3 o3
b) JsT #iy
c) WfFIET N
ST g AT A JT 21
4. Adsorption is a-
a) bulk phenomena
b) surface phenomena
¢) homogeneous phenomena
d) all
4. SECIIT 96 -
a) bulk gGaT
b) sfoir woAT
C) TG o4l
d) s=xfo
5. K3[Fe(CN)6] is called-
a) Tripotassium hexacyano iron (lIl)
b) Potassium hexacyano iron (ll1)
c¢) Potassium hexacyanide iron (lIl)
d) Potassium hexacyanoferrate (lIl)
5. K3[Fe(CN)6] & =T =3-
a) Tripotassium hexacyano iron (lIl)
b) Potassium hexacyano iron (ll1)
c¢) Potassium hexacyanide iron (lIl)

d) Potassium hexacyanoferrate (lIl)
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6. Which of the following acts as a buffer?
a) HCL + KCL

b) KOH + KCL

c) CH3COOH + CH3COONa

d) HCOOH + HCOONH4

6. fawfaifie @t TR REIQ Fre $E?
a) HCL + KCL

b) KOH + KCL

c) CH3COOH + CH3COONa

d) HCOOH + HCOONH4

7. What is the Sl unit of entropy?

a) JK-1mol-1

b) JK mol-1

c¢) JK mol

d) none of the above

7. Q9G¥ S| 9T 3-a) JK-1mol-1

b) JK mol-1

c¢) JK mol

d) &Efts 9%

8. In a solution pH= pOH, then the solution is
a) acidic

b) basic

c) Neutral

d) None of the above

8. (FIN BT pH= pOH 3 TIfB 2@

a) wWif§s

b) =HIT

c) &9

d) SA@I Q53 97
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9. Gibbs free energy is defined as-

a)G=U-TS

b)G=H-TS

c)G=H+TS

dG=U+TS

9. AT & e T =7 -

a)G=U-TS

b)G=H-TS

c)G=H+TS

dG=U+TS

10.S02(g) + 02(g) '***®  S03(g), here V20sis-
a) Homogeneous Catalyst

b) Promoter

c) Heterogeneous catalysis

d) None of the above

10. 802 (g) + 02 (g) V2% S03 (g), QUIE V205 QB -
a) TG IO

b) &walos

C) TATG WJI6P

d) 53 9%

11. Which of the Following is not a Polymer of Glucose?
a) Glycogen

b) Cellulose

c) Amylase

d) Insulin

11. QR I FHf6 YE@IER AT 937?

a) AMBEICTT

b) GTeETE

C) WIIRETST
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d) 2fers

12. Which One of the Following is a Monosaccharide?
a Maltose

b) Sucrose

c) Fructose

d) Starch

12. QI J(&5 &6 Monosaccharide?
a JIEAGTS

b) Jcrre

C) TR

d) 3516

13. Alkalis are

a) acids, which are soluble in water

b) acids, which are insoluble in water
c) bases, which are insoluble in water
d) bases, which are soluble in water
13. 19 -

a) T Tlkgo oIe

b) T Walkigs ard

C) S UGS HIFP

d) o alkige 7S

14. Sodium hydroxide turns phenolphthalein solution

a) pink

b) yellow

c) colourless

d) orange

14. IR GIfeTN AZ@TIZT HIVE HfRRET FE-
a) (srreTifor

b) 2n
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SEREE!

d) 9=

15. What is an ore?

a)a solid metal

b)a rock cantaining a metal combined with other elements
c)an element

d) an object used to row a boat

15. AP I ?

a) 9o T &1g

b) @S &g QIR WAy St fafdrs R
c) QB SoAmI

d) &=t iR I77° 3§

2021
CHEMISTRY(General)
Paper Code: Il -B

[New syllabus]
Full Marks - 30 Time - THr
The figures in the margin indicate full marks
Answer three questions taking one from each group
Group-A
[organic chemistry]
Answer any one question

1. a) Identify 'A’ of the following-(2)

CH,
Cul
HC—C—CH, ——J» A

| 300°C
OH
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b) What are the difference between Sn1 and Sn2 reactions? (2)
c) How do you separate 1°, 2° and 3° amine from their mixture by Heisenberg method ? (2)
d) Convert the following -. (2+2=4)

i) ethyl amine to methyl amine

ii) fructose to glucose

2. a) how can you differentiate between methylamine and dimethylamine by chemical reactions?
(2)
b) Identify X and Y of the following - (2)

H
c'—o—cH, — My X+Y

c) Write short note on 'claisen condensation'. (2)
d) Draw all possible isomers of butyl alcohol and write their IUPAC names. (2)
e) 2- propanol gives lodoform test but not 1-propanol - explain. (2)
Group-B
[Inorganic chemistry]
Answer any one question
3. a) Write the IUPAC names of the given complex.
i) K2[Ni(CN)4]
ii) [Co(NH3)2(H20)(NO2)3]
b) Discuss the structure of diborane. (3)
c) Give an example of hexadentate and bidentate ligand. (2)
d) Discuss the geometrical isomerism of four coordinated complex with example. (3)
4. a) Write the chemical formula of the following complexes- (2)
i) Hexamine chromium (Ill) hexacyanocobaltate (lIl)
ii) Tris(ethylene diamine) chromium (l1I) chloride.

b) What is chelating ligands ? (2)
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c¢) Why transition elements show variable valency ? (2)
d) AgCN easily dissolve in KCN solution but does not dissolve in water- Explain. (2)
e) Name one ores of Ni and Au. (2)
Group-C
[Physical Chemistry]
Answer any one question

5. a) sodium hydroxide is a strong base what is the pH of a 0.02 M sodium hydroxide solution?

3)
b) Define equivalent conductance. (1)
c) How catalyst controls the rate of a reaction? (3)

d) Show that half-life (t1/2) of a first order reaction is independent of initial concentration of
reactant. (3)

6. a) what is Salt bridge? Write the function of it. (2)
b) Write a short note on langmuir adsorption isotherm? (3)
c¢) How would you determine the dissociation constant of a weak acid conductometrically?(3)
d) Write expression for Kc and Kp for the following reaction: (2)
3Hz2 (g) + N2(g) = 2NHs (g)
IAGIM
Rerst-3
¢ 3]
A FIET a5 &AcIF TeF M|
1. a) [A@EI A’ Q191fS FTIrEFIT 7 2 (2)
CHj,
HyC—C——CH, —poﬂ A
300°C
OH

b) Sn193 e SN2 RfeFara #nd=s fera (2)
c) Heisenberg &S 1°, 2° Q3R 3° SMNET Y RIE @I [FOIF 935 FIR? (2)
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d) A7 sAffTdaafer sy 7=- (2+2=4)

i) T @ A3 T

i) $ES A J&re

2. a) 3 TR @ TiRARE Wiac s [ ua (o saresat $3R? (2)
b) R X' QIR Y TSI I7- (2)

YT M

c) 'claisen condensation' O &1 513 Bt 141 (2)
d) RSB WEEIRET AV ANRTIS iF, 972 TR IUPAC TR @191 (2)
e) 2- (NI WIICTIH [T AT (7T G 1-@roae o F1- 97 whs| (2)
et - ¢
[SteR 7]
A FIET a5 dcIT TSI WIS |

3. a) fawfaifis csraferm IUPAC a9 afet @car: (2)

(i) K2[Ni(CN)a]

(ii) [Co(NHs)2(H20)(NO2)3]
b) T1% QIAEIT WIFFS WIETH FET1 (3)
c) Hexadentate Q3% Bidentate 79116 @3 @6 I THRIT &1 (2)
d) 4-FfEEE e Tfifss SEeTNR ofS SHRga FTREIET WETEST FET (3)
4.a) fawfaifie ciorefom anmafas s @41 (2)

(i) Hexaamine chromium (l1l) hexacyanocobaltate (ll1).

(i) Tris (ethylene diamine) chromium (l1I) chloride.
b) fo@fbe foroms 52 (2)
c) e (et wfer [ifSy crerot ararg &a? (2)
d) AgCN 43 512¢@13 KCN TRt ugs 31 g o utgs a7 911 1A AT (2)
e) RE@s QIR CONEET 9FT WFREI AN @41 (2)

st - ot
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[Sto 1]
T @A 9B 2cIT TeT s

5. a) GTIRSTN R@IIIBZT QB AN AFF| 0.02 @I GRS IRGIARG TV WH
3ot 3t @ (3)

b) 3FICIIETD FTIBS AT 3@l &1 (1)
¢) U5 [PoI@ &9 [RfEFww @t faggs @2 (3)
d) crare @ &N N [ferar sy RfvnE@s a4 s «fR[{wicR ow S @ a1 (3)
6. a) T OTY, 52 337 FIFFIFO! <fF7 @41 (2)
b) Langmuir adsorption isotherm S AEH ! WA S| (3)
c) AfRIRTR 479 @ @99 3@ @9 @I 77 Wi 97 REre 35 @ FIR? (3)
d) f[asfafis R afsm cv@ Kp 93t Ke @@ FGET: (2)
3H2 (g) + N2 (g) = 2NHs(g)



